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1. 37+41+63+59;

. 736278 - 422;

3. 125x56;

4. 1500+25+ 4,
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37 +41+63+59 =78 +63+59
= 141 + 59 = 200,
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37+41+63+59= (37 +63) + (41 +59)
=100+ 100 = 200.
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736 — 278 — 422 = 736 — (278 +422)
=736 - 700 = 36.
125X 56 =125X8 X7
=1000 x 7= 7000,
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1500 + 25+ 4 = 1500 + (25 X 4)
=1500+ 100 = 15.
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27+ 33 =60,
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(1) 36+ 87 +64;

(2) 99 +136 +101;

(3) 1361 +972 + 639 + 28,

B () J=(36+64) +87

=100 + 87 = 187;



(2 3 = (99 +101) +136
=200 + 136 = 336;
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=2000 + 1000 = 3000,
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873+188 =861+ 12+ 188
=861 + 200 = 1061,
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(1) 996 +548;

(2) 9898 + 203,

B (D B =996 +4+544

=1000 + 544 = 1544;

(2) J5A =9898 +102 + 101

=10000+ 101 =10101.
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(1) 58 +67 +42;

(2) 75+39+25+61;

(3) 740 + 287 +260;

(4) 12345 + 46801 + 87362 + 87655 + 53199 + 12638;
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(1) 51 +52+53+ =+ + 98 + 99 + 100;

(2) 1+3+5+e+15+17+19;

(3) 5+10+ 15+« + 90+ 95 + 100,
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= (1+28) x (10+2)
=29 x5 =145,
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(3) 6999 +784;

(4) 8376 + 2538 + 7462 + 1624;
(5) 997 + 548 + 95;

(6) 1+2+3+.-+100;

(7) 11+ 14+ 17+ +68;

(8) 2+6+ 10 + = +62;
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(1) 300-73-27=300- (73 +27)

=300 - 100 = 200;
(2) 5131 - (131 +1008) =5131 - 131 - 1008
=5000 - 1008 = 3992,
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513 - 56— 44;

1989 — 437 - 563;
4723 - (723 +189);
2356 — (256 + 159),

B =513 (56 + 44
=513~ 100 = 413;

B = 1989 - (437 +563)
=1989 - 1000 = 989;

JEA = 4723 - 723 - 189
= 4000 — 189 = 3811;

JER = 2356 - (256 + 100 + 59)
= 2356 — 356 — 59
=1941,
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1308 — (308 - 149);

5283 — (283 - 198);

3765 + 4998;

5561 — 4998;

1308 — 359 + 59,

JE 3, = 1308 — 308 + 149
= 1000 + 149 = 1149;
JE5 = 5283 - 283 + 198




=5000 + 198 =5198;
(3) Jiz = 3765 + (5000 - 2)
' 3765 + 5000 — 2
8765 ~ 2 = 8763s
() Ji =5561- (5000-2)
= 5561 - 5000 + 2
=56] +2 = 563;
G JEER = 1308~ (359 - 59)
= 1308 ~ 300 = 1008.
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a-(b—-c)y=a-b+e,
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a~-b+e=a-(-c),
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(1) 6100~1~2~3~ s —100;

(2) 1000~ 3~ 69— s~ 54,
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(1D B =6100= (1+2+3+ e +100)
=6100~ (1 +100) x (100 +2)
=6100- 101 X 50
= 6100~ 5050 = 1050;
(2) J=1000~ (3+6+ 9+« +54)
=1000~ (3+54) X (18 + 2)
= 1000~ 57 X 9 = 487,
G ARk gl K IUAN R, IR B R F AR,
TR ARIX R K e, B OABURE T R KA
Bla  AEI0N IR, AU AN By I h54,47,51,52,48,
50,49,53,51 148, Kbk NEL.
PIREE NITE KA L AR 1 B n
by ERE LA E kP A L BE L T e
B AR IR, PEREH A B Sk A B (g i G i
BO W2 KT IEMEBOWPE g, /e W 1R Bk
B, Wixsbos Bk e, By A S Ii e, n LR
JE, BRAET R, AEABIPIRAIL50 0 S dEE, WAy . '
54+ 47+ 51 +52+48+50+49+53+51 +48
=50x 10+ (U4+1+2+3+ 1)~ (3+2+1+2)
=500+ 11-8=503.
515 %5995 + 996 + 997 + 098 + 999,
B2 OIRAMIE1000 AL AR, W,
B =1000X5—- (5+4+3+2+1)
=5000- 15 = 4985,
BE BT A K K, W
A =997 x5-2+2~1+1 =4985,
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